IAS MAINS, 2016

PAPER 2 Commerce & Accountancy
TUE ‘A'  SECTION ‘A’

1. frrwstferfaaa an ammr 150 wisg) 0 eum b

L ¢ 10x5=50

Explain the following (cach in about 150 words) :

1. (a) -hfl'l.if.qm 10
Ritualism

L(b) el qeaan dain 10
Strategy-Structure Relationship

L(c) fafasha fire 10
Tridimentional Grid ’

1.(d)  WwESg saeen i
Freudian Stages

()  gonfadfyaman 10

Ethnocentrism
2.(a)  ®WeA Anit & ) wnp B &, By ada iR ) amife =9 @ Rt et
gfd & foro wanfoa R smen & 1" 3a @ & Fifargl @ afer @ fife | |
“Organisations are collectivitics of peoplé-that hayé been established for the pursuit
of relatively specific objectives on-avmore or dess’on continuous basis”. Elucidate
the implication(s) of this statement, o 20
2.(b) TE-FRE "R faad i serEe. @ wr ARt F aeagd &
for mum & w9 # A dEel & ‘ol aoltere gET & weEE | waTer Ae
afes ATt gt o W8 | W A W T |
- The criticisms of Neo-classical organisation theory ranges from ‘human relations
~as a tool for cynical puppeteéening of people’ to ‘human relations no more than a
trifling body of empirical descriptive information’. Throw [ight on this statement.
20
2.(c) ‘uertfoe ofR faftr ity SRR gt # 39 % v ¥ ok say ary sedd
o qHl % &9 & @ awar ¥ |7 1@ w9 @ e fifto
“Political and legal environment works both as a promoting and as a restraining
force in business operations”. Examine this statement. 10

3.) i g s de % fe A e v # ohowdh
& et e ¢, mﬁméﬁﬁmmmm&ql’mmw&ﬁgﬁm
iR grmTRe fF wad F1 o @16 § B waR freen i |
“Informal organisation is detrimental to the interest of formal organisation and,
therefore, it is an evil to be nipped in the bud itself.” Comment on this statement
and explain how managers should handle informal organisation. 20

3.(b) mﬁmmﬁﬂmmgmm%mm% "’ = wm
& 7 fafgand € 7

“The relative advantages of functional structure of organisations are like two-edged
swords.” What are the implications of this statement ? 20
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How p o’ o
ower  differs ‘ : .
isati > Hom ‘g " ? Dis ower in an
Organisation. uthority’ ? Discuss the sources of p o

S FREMH \‘W o N .

majza;aﬁquéé Bl R 7w 2 e @ 5 T g A 6 A

e T AN WALLIE A V1 , 3R T FRW uRfeafa

q\imm e m“'gaj' e ® 3 T

o l?gnkthere IS an accident in a factory, the supervisor may treat it as the carelessness

and | y Er(s). While the worker(s) may treat it as the high-handedness of management
ack of adequate provisions of security measures.” What is the significance of

this Phenomenon, and why people see the same situation differently ? 20

ﬁ?%%ﬁﬂhﬁﬁﬁﬁmwa&%l"wmww

Biological factors are important in determining the personality of a person.”
Comment on this statement. ST 10

¥R &% WIER-AeR Azw’ ¥ Rt a samsTr 3.9 Rt wRe @ aPoRe )
A, T awl ¥ . fifeard $

What are the various elements in the/*Porter-Lawler Model’ of motivation ? What
are the implications of these elements. in motivating a person ? 20

9us ‘B’ SECTION ‘B’
frafofaa 6 srmwr 150 =3t 3 wrear #ifm, -

Explain the following (each in abéut-150 words) : 10x5=50
Afaergel siaxw

Versatility transfer 10
AT T HEEHATS. & (EITHe & T § i o wwew

Burack Smith Model forecasting Human resource needs 10
Fuferaar faam'& um §

Measures to control Absenteeism 10
seifie dag % wef § STy 1 Iurm

Dunlop’s approach of Industrial Relation 10
stenfire faft-wa

Industrial Junisprudence 10

A qETA e @pidag @aed § |7 3@ w9 | ==t ik iR qufze iy
fafira Gesfoar wma GaTae Yaua sraamEl @ frg TR o ad €

“Human resource management practices are culture bound.” Discuss this statement
and show how different cultures adopt different human resource management

practices. 20
o & YER @ fauilas won R, S wifal sk @e R @ wwfie e
? 1" 38 A F wE R |

“Placement is a decisive step that affect both the employees and the organisation,”

Explain the statement. 20
e
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TFIR A 3 a1 AR & anex fafi wlam e framm daiely fafidi o2 6o &
WEd H |

Discuss briefly the various on-the-job and off-the-job training and development

methods. . 10

fafire ot @1 e anfeeer forr g 2 1 gfififa s fren & o R FREt @
U GE A1 Al yE aafedt w et difm |
“A job description is a word picture of the organisational _relatjonships,
responsibilities and specific duties that constitute a givén job or positjon.” Discuss
the major criteria for a well-made job description that link the underlined factors,
N - 20
mmmmwmﬁam%mm@aﬁzéﬁﬁmﬁmaﬁ?mmm
FAR I 36 F9 H AR W FG oK IR F A G & e w6y W
IS AT WA o Feord A |
“The immediate objective of job-evaluation process is to obtain internal and external
consistency in wage and salaries.” Elucidate thé statemefit and throw light on the
effect of job-evaluation on human relation in ‘an industry. 20
T fafmier st % wim § o 200w @) S e &
AR &9 & Rl R | oot sitoraier edich. SA9e Y ST ® | O
1 T AT § qee AR 6w w Y amit A & R o aRe i |
A manufacturing company has @bout 200 employees: in its plant. It undertakes

performance appraisal on infofmal basis.~The company. wants to adopt a formal
appraisal system. Advice. thé/.company as to how it should proceed in the matter.

10
FHARI b Frw afir e 3 ynfier o w8 ? T Ut FEfT 3R @ RER
ﬁﬁqﬁaﬁm@wmﬁﬁaﬁawgﬁmﬁé?mmﬁaﬁ 9T FH |
Why do employees join a trade union'? Discuss a strategy which an organisation can
adopt for dealing with the‘trade union with the possibility of making the company
union free. 20

“mmﬁmwﬁmaﬁ%aﬁmﬁmiwﬁmﬁaﬁmﬁm

. o b
frm @ 76 @ 5 w=e Hﬂﬁ%%ﬁqaﬁé_mﬂﬁ%r’sﬂw%mﬁ
aifreton Gl { &l I | wra & gurisw f
aria i fore s R, TEHR AT b foheT F w9 F 91 wwd |
“The objective of arbitration is not compromise but adjudication, though the parties
are at liberty to compromise. A wise arbitrator will certainly promote such
agreements, but as a rule, there is no place for compromise in the awards.” In the

for arbitration. 20
ﬁsﬁq@nﬁtﬂﬁaﬁm%aﬁﬁﬂ%@ﬁ@ﬁaﬁzmﬂ%ﬁm.
ﬁuz@l%qwagaﬁwmﬁmélﬁwaﬁaﬁ@é;ﬁﬁqaﬁiwm

LB

Union demands and colléctive bargaining settlements in private industry and public

sector'industries differ significantly. List down the differences and suggest suitable
remedies. SIS S 10
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al. freforfer & & EI® H

SECTION A PAPER I

I AN 150 waat o Hifdrg :
about 150 words each :

@ .n
Answer the following 1 10x5=50

(a)

(b)

(©)

(d)

(e)

Q2. (a)

~

M-ESC-U-cma 2

: @mm%mmamwm

Discuss the provisions of Indian Accounting Standards regarding tp,
accounting treatment of Research and Development costs. 10

< e iR e = dEn % fe e v sk fioky o
% TwE i saren ot R |

Distinguish between the techniques of Cost Control and Cost Reduction

and also explain their implications on decision-making. 10

wqfE % gamie i fia wged fafy < sare $ifv |
Explain Pooling of Interest method of amalgamation of companies. 10

wFa T 3| 1 @ faftm wAfEr F-wrEd 87
What are the various deductions-made from-Gross Total Income ? 10

“farsria @t dEdEr aftEe AmEfEl F g w aws

feaure! < wam SR {117 feoofi iR |
“Audit of divisible’ profits_enablesthe stakeholders to judge the
philosophy of majority shareholders.” Comment. 10

IR, 1. 3 T 1090 R W T 2 fifem F 20,000 A F o @A
I F Y T e i A, B R 3 2

AT | T 2

A | T 5 (ifirm afia)

999 [T | T3

fedta & sifm i w T2

30,000 T % RT¢ MRTH W 7w ol I A 24,000 T F A H
JAFIIE e F R m | S W s i aRY F e TR
v & foram ma |

W, & 400 W ImEfda frg T 3, e Tl w1 gTAE TE R TR |
qegER SoH AT T R F oreme @Y W G Al H w0 R ™
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qlt, S 600 R A ureh oA, At wht o HY F orend @, @ W6 A

1 qE i % g g R T |

e T fed & A 800 Y vty @ o W Few i wew TPt

X fRu, R @ean & wft e e 3

AT 1. it geaw! # savEs wia sfafRat Sk |

RS Ltd. issued a prospectus inviting applicationshares of
¥ 10 each at a premium of ¥ 2 per share payable as under

On Application T2
On Allotment T 5 (including premium)
On First call T3
On Second and Final call T2

Applications were received for 30,000 shares and pro-rata allotment was
made on the applications for 24, 000 shares. Excess money paid on

applications was utilised towards allotment money. -
Kherwa, t6 whom 400 shares were allotted, failed to pay the a]lotment

money. On her subsequent failure to pay the first call, her jlffﬂvere

forfeited.
Suri, the holder of 600 shares, failed-to pay the two calls, and her shares

were forfeited after the second call.
Out of these forfeited shares, 800)shares were reissued to Gopal,
credited as fully paid for(Z 9 per share{ the whole of Kherwa’s shares

being included.

Pass the necessary Journal entries in.the books of RS Ltd. 20
b) @ fafmin smRahs, e e fqaw fafafaa 2, Pl fon 6 3=

foafa =t forar e

S S

9.1 4.2 LOO
s 3T (9% ) 90 60 2 5t
fash (T @@t #) 540 300
yREdEiiel A (3 @t |) 396 225 G
fér @ (T @@t #) 80 50
arT fob yara wrif<a forar w2, aitees it - \\Uoﬁ
() faeRd a= 6 aqo-Em fosh @ 3@ e § guar 3@ | &’4

(i) 80% &wWaT YA W faifa @3 it amera |
(iii) ¥ 75 @M@ W1 A9 AR FA F v e ga= 1 fah o7& |

M-ESC-U-CMA 3 )
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Two manufacturing companies, which have the following operating
0

details, decided to merge :
Company Comp%ny

No. 1 No.
Capacity Utilization (in %) 90 60
Sales (T lakhs) 540 300
Variable Cost (¥ lakhs) 396 225
Fixed Cost (¥ lakhs) 80 50
Assuming that the proposal is implemented, calculate : 15
(i) Break-even sales of the merged plant and the capacity utilization
at that stage.
(ii) Profitability of the merged plant at 80% capacity utilization.
(iii) Sales turnover of the merged plant to-€arn a profit of T 75 lakhs.
(© “FFuife 7 S a AR W HCH Fraw O @ afcd gl A
R ot g a1 8 17 36 FA A e B |
“An assessee not only pays-tax on his.own incomes but also on others’
incomes.” Explain this statement, 15

Q3. (a) U F & ANG-AEHR H.FEq, 2016 % g hit FrafaRea gum
Rﬂﬁﬂéﬁ:
(1) IR A = 31,400 yfge
(2) 3ufera amnfam : T 1,000 gfege
(3) watl, 2016 % & TV : 1,200 TUL
(4) wadl, 2016 % 91 JUNT : T 6,000
(5) IRzt ht arafaes ageht A 7 T 8 Ry Tve

wall, 2016 % fore FeferRaa mom ¥g 3 wgra it ;
() IaReaT =t fm
(i) arfas URT AT Imd
* (i) Iredfash AT % g arafess g
(iv) J9Reag gwan faamor
(v) IIRa sEipvear o=
(vi) Irfa® 3dTE & fog o oo
M-ESC-U-cma P
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? The Cqst Accountant of a Company was given the following information -
regarding the overheads for February, 2016

(1) Overhead cost variance : & 1,400 adverse

(2) Overhead volume variance : T 1,000 adverse

(3) Budgeted hours for February, 2016 : 1,200 hours

(4) Budgeted overheads for February, 2016 : T 6,000

() Actual rate of recovery of overheads : ¥ 8 per hour

You are required to assist him in computing the following for

February, 2016 : 20
(1) Overhead expenditure variance

(i) Actual overheads incurred

(ili) Actual hours for actual production

(iv) Overhead capacity variance

(v) Overhead efficiency variance %9
(vi) Standard hours for actual production i

b) ¥ 6 JTH THF 2 (ST B FER, TR G Tawe S Aot %
arra Fafor § mite 7 s 2

State four items which are not to’be’included in determining the cost of
inventories in accordance ( ‘with (Paragraph 6 of Accounting
Standards 2 (Revised). 15

© FFF = o gt 4 . dfsa + fow 928 3R w g9 wiia &,
o fagr & faftm i @neTt 1 uga vk 3 O wn | R @
Mgl @1et 3 R 30 7 F fre 9% @6l B dEmtE ¥ R S |
i, el oM Tia T w1 AR g S T | ffirm gt B iRl w (
e et @ A N T AR $ Ry, detE ¥ FEE R |
$ifs | RRRfT F forg W@ oie faoem fag same, /R o stk a0
a1 SrEadiEn SrRiwn § gt B Tiitaat w famor 6 Sl @ o |

An NGO operating in Delhi had collected large scale donations for flood
victims. The donations so collected were sent to different NGOs
operating in Bihar for relief operations. The NGO operating in Delhi has
appointed you to audit its accounts for the year in which it collected and
remitted donations for flood victims. Draft a programme for audit of
receipts of donations and remittance of the collected amount to different
NGOs. Mention five points each, peculiar to the situation, which you
would like to incorporate in your audit programme for audit of the said
receipts and remittances of donations. 15

M-ESC-U-cmA 5
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g faert 8 | ,
w o gpem I
mﬁ%.mamwﬁm‘“ﬂfm

i wfe wre fRe W fean gam
HIE W BaT @ | 36 391 & &1 7 T 500 |
2 R W 7 2,000 TR g T | SR Rt o €

WEHH §E1 $ FOGE] | A < 3,000
et =gt ¥ awiw ¥ 1,000
T d. F ot e T 2,000

I I Fafen @wer fiwr © 12,000 % 3% g0 S R | 3R Ty
PN A T 1,500 3k TRar fale sEwE $ NAf F 1T T 1,500 g9 R |

R fFrair af 2016 - 17 $ e, g o =1 e FIRT |

Dr. Sharma is a Chief Medical Officer; He receives a salary of ¥ 15,000
per month and Dearness Allowance @ 25%. He contributes 15% of his
salary to a Recognised Provident Fund/ The employer also contributes
an equal amount. He is provided with-& Rent Free House in a city with a
population of 5 lakhs. Fair rental value-of the house is ¥ 6,000 per
month. He receives Hostel Allowarice of 2500 per month for his child.
He has let out his own house at' T 500 per month and paid T 2,000 for

Municipal tax of the house: He has the following incomes too :

Dividend froma domesti¢ company T 5,000
Interest on debentures of a Ggoperative society ¥ 3,000
Dividend from a foreign company T 1,000
Share in the profits of A.OP. T 2,000

He paid ¥ 12,000 for his own medical health insurance by cheque. He
donated ¥ 1,500 to a national fund and ¥ 1500 for promoting family
planning programmes.

Compaute the total income for the Assessment Year 2016 — 17.

®) ?aﬁmwm%mﬂﬁﬁﬁmmsoa%wﬁsﬁﬂé
it - T 4,010
LR
faum 37 . sowé,?:;sxﬁwéﬁatw
fam e . 409%, T ofy U f w
. faam g . 209%, ¥ 59fy 9o i W W
.\ M'Esc.u_m 6
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: ¥ 5,000, 5000 5% wudt ¥ fya
fm s . ?3,000,1500mav€i%1%m
fam g . ¥ 2,000, 500 %W uvet % Ry

o Sufem . ¢ 20,000 W 37T 10,000 W= 7 wvet ¥ fora |

AH e 303 % for s =1 wiee wem @ v
* ¥ § b ? W@ 25% @M AR

The informzfttion given below has been taken from the costing records of
4 company in respect of Job No. 303 :
Materials : ¥ 4,010

Wages :
Dept. A : 60 hours @ ¥ 3 perhour
Dept. B : 40 hours @ T2 per hour
Dept. C : 20 hours @ ¥ 5 per hour
Overhead expenses for these departments were estimated as follows :

Variable overheads :
Dept. A :(¥ 5,000 for 5000 labour hours

DeptsB ¢/ T 3,000 for 1500 labour hours
Dept. C : 2,000 for 500 labour hours
Fixed overheads  Estimated at ¥ 20,000 for 10,000 normal working
hours.
You are required to calculate the cost of Job No. 303 and also calculate
the selling price to earn a profit of 25%. 15

(c) feft @R B o6 FEmdan § Mo Qﬁﬁqﬁr’.(@.vh.q.) ¥ & 8§ Dfta
FO A T4 T AETHIEEF & R IS I A1 et b FTET |

Enumerate the steps to be taken by an auditor before declaring an
account as Non-Performing Asset (NPA) in a bank audit. 15
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SECTION B

Q5 Arerfrfr # @ welrw W1 I S 150 wegt # g
Answer the following in about 150 words each : 10x5=50

(a)

(b)

(c)

(d

(e)

firfr Frofat # 751 & e Y g Y saTEM HIFRT |

Explain the relevance of time value of money in financial decisions. 10

P W IRiee F e & g o O 9 & omed ¥ F T
i |

Diagrammatically present the Du Pont chart to calculate return on
equity. 10

Gt H ara | afeferr v ek surm #§ s U gEqrEl B @8 § o
$ifm |

Explain briefly the propositions madein Modigliani and Miller approach

on cost of capital. 10
FaaH Wfges ify i sare Ak
Explain the current Monetary Policy. 10

arE Hifefuior i et yfit w1 G Bt |

Evaluate the role of Credit-RatingAgencies. 10

Q6. (a) ﬁmﬁﬁawwmmgwwmﬁm:

() e swfem $a o 1:9

(i) P IRl red 9

(iii) AT W what @Y 30%

(iv) aﬂaaa@ﬁaaafﬁ(mr«ﬁﬁqaﬁseoﬁq) 40 faq

(v) 9 T R W i ad A sifm e

R A ATy e srqura 3

(vi) @rg fgir o 0-75

(vii) et I st T 4,00,000

(viii) Sf&faat ua arfty T 6,00,000
M-ESc-U-cma 8
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- T T ~ R L \ L
( Using the following information, Prepare the Balance Sheet : 20
(i) Total debt to net worth 1:2
(ii) Total assets turnover 2
(iii)) Gross profit on sales 30%
(iv) Average collection period (Assume 40 days
360 days year)
(v) Inventory turnover ratio based on
cost of goods sold and year-end inventory 3
(vi) Acid test ratio 0-75
(vii) Equity share capital T 4,00,000
(viii) Reserves and Surplus ¥ 6,00,000

b) T . e O R SR h e hesiien ] 3R e IR e

3R 3 &1 Gr T wega feRnarn B
X fa. Y f&.
fam b .
Hrad 6,00,000 3,00,000
E » 2,50,000
6,00,000 5,50,000
aifa @ 90,000 90,000
HCTRY - T ~ 22,000
90,000 68,000

ﬁmﬁﬁﬁm%mmﬁﬁm,mmﬁmm
@nﬁmmmﬁﬁq,aﬁmﬁ@ﬁswmmwﬁa 35%
2 T3 A e w209, aififer wdm

M-ESc-U-cMA Q
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Jevel of business risk and their market ,
ame

X Ltd. and Y Ltd. have the s
low :

values and earnings are summarised be

X Ltd. Y Ltd.
Particulars z z
Equity 6,00,000 3,00,000
Debt - 2,50,000
6,00,000 5,50,000
Earnings 90,000 90,000
Less : Interest - 22,000
90,000 68,000

Calculate the post-tax cost.of equity; cost of debt and weighted average
cost of capital of both the companies. Asstme that the income-tax rate
on the company is85% and/the additional tax on dividend distribution
is 20%. 15

(c) lggl%mmﬁﬁmg%WMaﬁmq:
() o &
(i) Srafie wd Tt wie TR
(iii) =T faefir TR

Write the important reformg that h

t i
s 1901 ave taken place in the following §
ectors afte I

' (i) Banking Sector
(ii) Primary and Secondary Stock Market
(iii) External Financial Market

m-ESC"U—cmH
70
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15

(a)

h-.s..-.,.,.,,_‘_.m*

%}ml::?% ‘mﬁmﬁ%mm?;inﬁ)mmw#w
“'gﬁiﬁm, :
mwmwsﬁﬁ?wmﬁmmﬁaﬁﬂ | 3

mlmﬁﬁﬁ%‘%aﬁamﬁmj:f;f%mﬁmmwﬁm

TR | ad1 | ade | ads | w94 | w65
S 25 - 5 20

14 6

q 40 | 10 14 16 17 8

T B gt W A 16% 2 | a9 QA T F g W W A
Fr=fofaa =1 i =@ T, Telrg AT ;

1) YYEE &y

() e adum g

(ifi) ATHSIHAT FIHH

(iv) 3Taieh Jided §

XY Ltd. wants to install a new.machine)in place of an existing old one
which has become obsolete. The company made extensive enquiries and
from the proposals recéived, short-listed two offers. The two models
differ in cost, output and anticipated net revenue. The estimated life of

both the machines is five'years. There will be only negligible salvage
value at the end-of the fifth year. Further details are as follows :

Anticipated after-tax cash flow

Machine | Cost | Year 1 | Year 2 | Year 3 | Year 4 | Year 5

A 26 | - 5 20 14 6

B 40 10 14 16 17 8

The company’s cost of capital is 16%. You are required to make an
appraisal of the two offers and advise the firm by using the following :

(i) Payback Period

(ii)) Net Present Value

(iii) Profitability Index

(iv) Internal Rate of Return

M-ESC-U-CMA n
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(b)

(c)

(b)

(c)

30 ! Thg a3 Hify
st fr. it adum fsh T 20,00,000 2 ) Z/I;D?;’m ad g
AN F ¥ A T @ R | g IROTHEEd, 1 AR B 30}
10 7 9 8% ik 809 Fasht 3 Qs a1 b1 G 3% g1 1 T g Ay
AR oo 6 e o et w 20% @A &, @
+ an] f s iRy 2 - i
Sh::l Ltd. has current sales of T 20,00,000. The compaﬂi’t li}za:;r;nznto
introduce a cash discount policy of 2/10, net 30. As a reBl; ’ and 801;0 };'
expects the average collection period to go down by 10 cays ’

the sales to opt for the cash discount facility. ' ables is 20
If the company’s required return on investment in receiva b,

should it introduce the new discount policy ?

foceft wear Ravt qon e okl % fowm 3g W g0 I3W M
fafta 3t &1 whewr it |

Examine various measures taken by SEBI ff)I' _the development of
Foreign Institutional Investors and Venture Capitalists.

T Frt i 3 10 3ifed e a1t 390 ROEHA T 10,00,000 B | Hwh
A A §ft 10% I R W 2-6,00,000 2154 6 B 2 5 gfar 3h1E F
feshl 7w W 3,00,000 sFTEAT IRy o 23k SR o @ 3 ufd 3ré
2 | for @ ofr = 2,00,000 2 ISt 35% R A W A Feh
& 1 2 fosh  109% gl 2t 4 aheme B -

@) i e o X wfowra 3y

(i) QM &R T fore Ier ) _

The share capital of-a company is 10,00,000 th shares of face value
of ¥ 10. The company has debt i ¥ 6,00,000 @ 10% rate of
. % —_—\_‘-——/‘

amounts to ¥ 2,00,000. The company pays tax at 3
increase by 10%, calculath : d 2 _:ii?b' If the sales

(i) Percentage increase in EPS

2

T T
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